
12

ZODIAC
VX40

ZO
DI

AC
 

VX
40

® Rainbow Pool Products
PO Box 2388, Mansfield Qld 4122
Telephone STD  61-7-3849 5385
Facsimile STD  61-7-3849 5384
Email: info@rainbowpoolproducts.com.au
Web: www.rainbowpoolproducts.com.au



13

ZODIAC

ZO
DI

AC
 

VX
40

VX40

Complete Unit
Part No Description List $ excl. GST List $ incl. GST

 WR000061   VX40 VORTEX PRO  $1,372.62  $1,509.88 

Parts
Part No Description List $ excl. GST List $ incl. GST

 1   R0539700   FLOAT   $7.56  $8.31 

 2   R0567900   FLOATING CABLE CLAMP (SET OF 5)   $5.25  $5.77 

 3   R0567800   MOTOR BLOCK SHAFT PIN (SET OF 5)   $1.32  $1.45 

 4   R0565600   FLOATING CABLE PLUG   $36.37  $40.00 

 5   R0518800   DRIVE GEAR (SET OF 2)   $5.40  $5.94 

 6   R0518100   ROLLER (SET OF 2)   $10.82  $11.90 

 7   R0643700   LARGE FILTER  (200 micron)  $79.82  $87.80 

 R0636600   100 MICRON FILTER CANISTER   $79.82  $87.80 

 8   R0517700   FILTER CANISTER SUPPORT   $29.98  $32.98 

 9   R0517400   BRUSH ROLLER (2PK)   $30.68  $33.75 

 10   R0638700   COVER LATCH GRIP PMS108   $3.79  $4.17 

 11   R0517500   FLOW OUTLET   $10.78  $11.86 

 12   R0517600   MOTOR SCREEN   $7.19  $7.91 

 13   R0518700   ROLLER SUPPORT   $3.59  $3.95 

 14   R0608500   SCREW 4 x 16MM (set of 5)   $2.30  $2.53 

 15   R0516700   SCREW 4 x 12 MM (SET OF 5)   $0.95  $1.05 

 16   R0638900   SCREW 4 x 25 MM (SET OF 5)   $0.95  $1.05 

 17   R0639000   17 GEAR (x2)   $4.19  $4.61 

 18   R0639100   OUTER BEARING (x2)   $1.32  $1.45 

 19   R0639200   SCREW 2.9 x 9.5 MM (SET OF 5)   $0.61  $0.67 

 20   R0517000   PROPELLER   $8.39  $9.23 

 21   R0589100   MAIN HOUSING 2WD II   $215.76  $237.34 

 22   R0636001   RIM LARGE R9022 ZODIAC   $17.91  $19.70 

 23   R0516800   FLOATING CABLE 18M   $195.99  $215.59 

 24   R0636500   HANDLE PMS295 LS   $4.75  $5.23 

 25   R0636700   WHEEL BUSHING ZODIAC   $6.00  $6.60 

 26   R0635900   BRUSH (SET OF 2)   $40.77  $44.84 

 27   R0637800   MOTOR BLOCK TYPE A   $403.18  $443.50 

 28   R0662600   CONTROL UNIT BASE   $8.95  $9.84 

 29   R0544700   HOOD BLUE   $43.80  $48.18 

 30   R0519000   RAMP   $5.40  $5.94 

 31   R0564500   SCREW 2.2 x 6,5mm (x5)   $0.95  $1.05 

 32   R0636100   RIM REAR R9022 ZODIAC   $29.98  $32.98 

 33   R0636300   TIRE REAR BLACK ZODIAC   $15.77  $17.35 

 34   R0636400   FRONT TYRE VORTEX TILE   $31.60  $34.76 

 35   R0517200   TRANSMISSION   $20.58  $22.63 

 36   R0699100   CONTROL BOX 1 V AUST   $334.78  $368.25 

® Rainbow Pool Products
PO Box 2388, Mansfield Qld 4122
Telephone STD  61-7-3849 5385
Facsimile STD  61-7-3849 5384
Email: info@rainbowpoolproducts.com.au
Web: www.rainbowpoolproducts.com.au


